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SSC PART-I (10th CLASS)
"BIOLOGY GROUP-| by - I
TIME ALLOWED: 245 Hours SUBJECTIVE Z&12 L2a5 = >
MAXIMUM MARKS: 63 63 = Af

NOTE: - Write same question number -+@:¢§.441r,&5£ b))/.:za'ﬂd'ﬂ?’{é(dw =
and its part number on answer book, as given in the question paper.
SECTION-l Jits

2. Attempt any six parts. 12=2x6 -é{iéwaz"f“é’( 2/
(i) Whatis the difference between Breathing and S O/YLS S S
Cellular Respiration.
(i) Whatis Trachea? Vs @
(i) What is the difference between Acute Bronchiis and S GIYE SE ) ekt (@)
Chronic Bronchitis?
(iv) Write the names of any two types of Cartilage. -40(tf-rb'"'m§ftf K W)
(v) Whatis the difference between Flexor Muscie and e G S /"g' S /9, v)
Extensor Muscle?
(vi) Write any two causes of Osteoporosis. -40 a&ﬁmé}({d/»gé’:' (vi)
(vii) Define Food Chain and Food Web. LEAS st 9 B3P ()
(vili) What is meant by Nitrogen Fixation? SelVe UF JuFe (Vi)
(x) State the mutual relationship between Sucker fish %Shark .éuw”‘f W S PF ()
3. Attempt any five parts. 10=2x /. .é(ﬂWLlZ'slle 340
() Define Osmoregulation. AR AT \9/6 .,{.Q/J .f':fnf,n 0
(ii) Whatis functional unit of Kidney? - (i)
(iii) Write two characteristics of Xerophytes. . ' Ao s ()
Differentiate between Seff polination and. ; ; A sk W)
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SECTIONAI (27 S
: -éz/-«wf-vmnxg o o
NOTE: - AWWW“"""“"" _Lopshri= AW e o \,d&

B4R \Wat is Preumonia? pescribe fis symploms A s d S
a0 causes. 2 5 ‘g} "
® Whal steps a7e i ,wumnw 3 ?@Lﬂfpdéﬂzg-—éévejvfb’/ &y ¥

of ummuw

4 -éyw‘[ HBak (s

6.A) Explain Pancreas Gland.
(B) Explain with examples the Moveable Joints. 3 -éyuwu)&JﬂiL’:Lfa(/ (=)

7.4A) Write any four types of -4‘1'4.);93/1 sy pianas S (.7

Natural Vegetative Propagation.
(=} i ' '
(B) Write note on Spore Formation and Parthenogenesis. 3 -40..»,1'4 J‘f-"g’;g ke (&)

'B.A) Explain Mendef's Law of Segregation with
g defs Law of Segregation with 4 -é:-dvyuﬁy’:@ﬁ;wwbr ()-8

Efeipfesk (L)

X _4‘!,,;,5},._{}_‘1,@; (-9
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[IME ALLOWED: 245 Hours SUBJECTIVE JL» Zad5 = "’"
MAXIMUM MARKS: 63 6 = A

NOTE: - Write same question number -q-bmj-';_{.)'rflgf: bu/.};ZAlﬁ;dlm"{Qrt}& )

and its part number on answer book, as given in the question paper.
SECTION-l Jslo
et

2. Attempt any six parts. 12=2x6 -é{fa&lﬁﬁlﬂgaé{ 2/
() Differentiate between Bronchi and Bronchioles. LE S IAE K $6r O
(i) Write down two symptoms of Amphysema. .ég,f::vme b:u‘" (i)
(ili) Write two effects of smoking on teeth. -égfal}l:;4ufl;£-5’/ (1)
(iv) What is meant by Skeletal System or Skeleton? S o= L S W)
(v} What are Moveable Joints? Give one example. e ?‘L)Vl_fc—gj‘;;ﬁLbL/:),/ v)
(vi) Define Origin of Muscles. LEBPSLEALF W)
(vii) What is Predation? Give one example. JEaJel sel Fhy L (Vi)
(viil) What is meant by Global Warming? Se st BhE (vl
(ix) Explain Dengue Fever briefly. Q e E
3. Attempt any five parts. % x5 -efz)’auzélziéga.éf 34U
(i) Whatis meant by Osmoregulation? /\;\ : s‘;,yg“:.f-f';f;ﬁ 0)
(i) Whatis Skin? Describe its function. (o % o ek )
(i) What are Renal Cortex and Renal Medula? Y i ‘,%(JCJ (i)
(iv) Whatis meant by Double Fertiization? S PAWAS (W)
(v) Whatis Endosperm? i ) (V)

(vi) Write the names of four in: dustri Za
(vii)

Sy e mis aaleslel i

-



(2) g‘o“/

s/ G
TION-I (22 0
‘s—E_c‘P’ = é{iupfz-umf(ﬁc.d,( o

NOTE: - Attempt any three questions: L oubhorton (..am ‘#\\

E=N

5(A) Describe Gaseous exchange in Plants. : i J&Lﬁ{u’"”sy‘f i
(B) Write a note on Halophytes. -
iesdong (DN
' scture and function of a Neuron. 4 L S :
6.(A) Describe the structul A } E{Jw&w‘;&w’/ﬂ )

(B) Explain three types of Arthritis.

~s'£-»wd’ma—ulwé.?ﬂ!cf‘dk’s (.7

7.(A) Define Binary Fission. 4
Explain it with examples. .
3 .é{!,fact.ﬁulajaﬁgf-‘guk&nﬂu»{ (<)

(B) Write down advantages and
disadvantages of Vegelative Propagation.
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R CoDE 2016 (A) A

BER: 7468 S8C PARTI (10th CLASS)

OLOGY  GROUP-II -/ G
TIME ALLOWED: 16 Minutes OBJECTIVE (s w16 = &y

MAXIMUM MARKS 12 12= AF
A 8§ S0 308 AL o st R P e VS QWU 14 s D 11 C B A T T
W1 ALt mn L L4 Bubbles PRSI /) R RO LS funmile. ki <&

Note: You have four eholces for anch objective type question as A, B, C and D. -\.zf.‘-v.f'&-ﬂ'fw{J‘f

The ghofce which you think s correat, il that clrcle In front of that question number. Use marker or pen

to flll the alratos. Cutting or fllling two or more circles will result in zero mark in that question. Attempt as

many quostions as given In objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not filled, Do not solve question on this sheot of OBJECTIVE PAPER,

Q.No.1 1 Ay

(1) s Abiotic gomponant of Ecosystem werdfiat M)
(A) Producar Jzgl  (B) Merbivores i 1 (C) Camnivores 2:0¥ (D) Oxygen g‘-"'/ T

(2) ____ drug is obtained from the plants --;_Jl_rJ.)’ bethafty (2)
() Agpirn f ¢4 (8) Oplum gt (C) Cophaslosporin wie = (D) Insulin s

(3) The Enzyme which is used o dissolve blood clots Is - e fram WAL ()

(A) Urokiname % (B) Interferon @1t (Q_ (C) Thymosin ¢/ (D) Beta-endorphin el
(4) During insplmtion the amount of Oxygen in inspired air iai- O .:.;.uJ.ﬁ’ UMJhJ.mﬁw'me&éJ‘b (4)
(A) 16 % (8)21 % (€)4% ¢ (D) 79 %

(8) ____ Is responsible for Filtration of Blood,

7,
S,
e

(A) Intestine Ju%  (B) Brain Lb)

(6) Insulin and Glucagon are produced In - | - Wﬁ‘ 2 udr" ©)
(7) ___ lobe is concerned with hearing and small

) Occlpial ST (8) Tomporal. Jog
(8) In adult human skeleton, the total number:
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BER: 7463 SSC PART-ll (10th CLASS)

OLOGY  GROUP-i PO S 1"

ME ALLOWED 15 Minutes OBJECTIVE (3% us15 =

MAXIMUM MARKS: 12 2= A4S
S B\ SIS IGL it e LD s LIy QWY 54> D C B A eyl ldvy <23
S KA L enmSi /o4 Bubbles ALt S S LS imiient) <2

Note: You have four cholces for each objective type question as A, B, C and D, -Q/—K’ f‘:bl"-"{‘c{n‘”’

The choice which you think is correct, fill that circla in front of that quastion number. Use marker or pan

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.. Attempt 28

many questions as given in objoctive type question paper and leave others blank. No crodit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) For all Ecosystems, the basic source of energy s .4..:-4;6%-&;/‘14_5 FEd (1)
(A) Piants < (8) Water (C) Sun & (D) Fire J7

(2) Antiviral protein is:- efup ey 2
(A) Insulin g2t (B) Interferons 7327 (C) Thymosin s¥@ (D) Urokinase ¥

(3) Aspirin is categorised as - e Py ©
(A) A drug from plants i/ e iy @Aocuglm minerals sw:fd’b:...ww
(C) A synthetic orug  Insstile il (c%gfom animals 1/ o Unde

(4) Inflammation of Bronchi or Bronchioles is called:- /& \ @)
(M) Flu # (8) Preumonia 7 (G)B/ hitis 604
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